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T A

(Question 1 continued)

(i)  Using the data in Table 2, calculate the price elasticity of demand for European
seabass following the change in price from 2017 to 2018. [3]
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(iv) Using the data in Table 1 and Table 2, calculate the income elasticity of demand
for European seabass when per capita incomes in Portugal changed from
2017 to 2018. (2]
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(This question continues on the following page)
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(Question 1 continued)

It has been reported that:
* The European Union (EV) is implementing fishing quotas as part of a strategy to

Wwaters, where no government has legal power,

* Sustainable Development Goal (SDG) 14 is to ‘conserve and sustainably use the
Oceans, seas, and marine resources for sustainable development'. However, many
governments pay subsidies that encourage overcapacity and overfishing. Global
fishery subsidies are estimated at US$35 billion annually and two thirds of that is
used to increase fishing capacity. Efforts by the World Trade Organization (WTO) to
limit these subsidies have yel to succeed.

* The lobster fishery in the United States (US) state of Maine is an example of
Successful collective self-governance of a common pool resource. Collective self-
governance is often successful but is applicable to only some common pool resources.

(viil) Explain why collective self-governance can, under certain conditions, lead to
Sustainable management of common pool resources. [4]
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The following information relates to the risk of fisheries being depleted around the world.
* In fishing industries around the world, taxes on the quantity of fish caught are used.
Taxes do raise revenue for governments, but if the tax is too high it may lead to
problems, such as the under-declaring of the size of the catch and increased sales
in unregulated markets.
* Several countries, including New Zealand, have introduced transferable quotas
that are similar to tradable permits. Canada has also successfully adopted such a
system to control the sea scallop fishery off its Atlantic Ocean coast.

(This question continues on the following page)










-

=12 = e&a-sws_l
(Question 2 contin ued)
The data in Table 3 show the prices of the items included in the basket of goods that
the typical consumer in the Czech Republic buys in Czech Koruna (CZK), the currency
of the Czech Republic. The quantities purchased are used as weights.
Table 3
Prices in CZK (per
kilogram)
Quantities
purchased (kg 2018 2019 2020
per year) 3
Rice 6 37 36 35
Spaghetti 12 35 36 35
Beef 18 208 | 222 | 208
Butter 4 171 | 205 | 152
Apples 30 30 27 34
Table 4 shows the cost of the basket of goods that the typical consumer in the Czech ::
Republic buys in 2018 and in 2020 in CZK as well as the consumer price index (CPI) 3
for 2019. =
Table 4
2018 | 2013 | 2020 &
Annual expenditures (CZK) | 5970 6362
Consumer price index (CPI) 105.09 ::'.
(i) Using Table 3, calculate the expenditures of the typical consumer in the Czech ;5
Republic in 2019, Enter your results in Table 4. [1 &
(iv) Using Table 4 and assuming 2018 is the base year, calculate the CP| for the
Czech Republic for 2020. Enter your results in Table 4. (1)
(This question continues on the following page) S
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(Question 2 continued)
The following
Indian Omsan.remes to Kenya, a country in East Africa with its coastline on the
* Kenya experienced

domestic product (GMDP) lny economic growth between 2014 and 2018 as real gross

Creased by an average of 5.6% annually. In 2019, growth
:::v:d 'down primarily due to weak investment. The weakening of investment was a
. ult of crowding out as the budget deficit grew 10 7.7% of GDP in 2018.

economies of scale, potentially leading to lower interest rates charged on loans.

* Continued lack of access to credit and high borrowing costs for small and medium-
Sized enterprises (SMEs) are reported. SMEs account for about 80 % of all
enterprises in the country,

* Kenya's infrastructure is lacking. Public expenditures of almost US$4 billion per year
are required to meet the country’s infrastructure needs. The World Bank estimates
that improving infrastructure could increase Kenya's per capita growth rate by three
percentage points.

* Taxes in Kenya amounted to 17.3% of GDP in 2019, which was higher than the
average for African countries.

* According to the World Bank, corruption in Kenya is one of the biggest obstacles
for Kenya's business sector, scaring away foreign investors. Public service
corruption makes starting a business very costly and complying with administrative
requirements extremely time-consuming.

(This question continues on the following page)
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(Question 2 continued)

(b)  Using the text/data provided and your knowledge of economics, recommend a policy to
the government of Kenya that would lead to higher investment. [10]
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